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Task Sheet 11

11a) A train ticket costs $65.00 plus 7% state tax. Tamara
bought a ticket using one $50 bill and two $10 bills. How
much change should Tamara receive?

N
Answer:
b) Mary Jo decided to plant a flower garden this gummer. iIs what the garden
looked like:
A 40\ 40\ 40\ 40\
B L Q\
c L L L L L L L L =
D L L 40\ L L
E - - - 4&\ - - -
D Mary Jo filled 50% of which row?
i Mary Jo filled what % of row B?
il How many more percent was row C filled than row A?
Describe how you arrived at your answer for i) above.
c) If each of the flowers in b) is represented by * and each dozen flower seeds

costs Mary Jo .75¢, how much did she pay for the seeds?

Answer:
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NAME: M Review Shedh

Review B

a) Calculate the mean, mode and median for the following list of numbers.

234,298,125,345,745,125, 541 Moan

Mode
Median

b) Place a < or > sign between each pair of fractions to indicate which is greater.

Do __ /s i) 2/s __ °/s i) /s 3/ V)12 _ °s V) 37

c) Replace each blank with the correct digit.

10.353

) 21__ 341 + 8567 = 218908 i 23.074 - 1 iiddh?2 x 6. =58.88

d) Mrs. Wormstead baked a batch o
total of 15 cookies. Mrs. W oNSteadfast, came home and ate 1/3
of this batch. If she t ba atches, what is the total number of
cookies that Mrs. Wo

i) 40 iv) 45
e) Meredith fini ce in 39.761 seconds. Her friend Amanda also ran in the
same race. ow the following about Amanda'’s results:

o The number in the thousandths column is fwice that of Meredith’s
. The digit in the tens column was six more than Meredith’s
o The number in the tfenths column was five less than Meredith’s

What is Amanda’s time?

Answer =

f) The following numbers are written in expanded form. Rewrite them in standard
form.
DAx103+3x102+5x10= i 7x103+8x102+2x10=
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Percentages, Rounding,
Ordering, Patterning

i) | A hockey stick $135.95 12.5%

o/ |

b v\ X,

N\
.= ) S
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